
Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

1

Mounting Bag hooks set to a UniTrack rail

Fig. 3. 
Bag hooks mounted.

Mounting
Read the instructions carefully before starting 
installation.
1.	 Fit screw ISO 7380 M6x12 with washer 6.4x12x1.6 

and groove nut in the corner hole on the holder. 
Thread the screw 2-3 turns into the nut. (Fig. 1)

2.	 Position the hook in the hole with the opening of 
the hook turned upwards. (Fig. 1)

3.	 Slide the groove nuts into the groove of the rail 
to the required position and tighten the screws. 
(Figs. 1 and 2)

	 NB: The positioning of the hooks depends on the 
type of bag that is to be used. Always test the gap 
using the bag itself.

	 Not all the securing elements in the set will be 
used for this type of mounting.

Fig. 1.
Slide in the groove nuts.

List of parts in the set.
2 pcs.	 Holders for bag hook	 2 pcs.	 Bag hooks	
4 pcs.	 Washers 5.3x15x1,2	 4 pcs.	 Washers 5.3x10x1
4 pcs.	 Lock nuts M5	 4 pcs.	 Washers 6.4x12x1.6
4 pcs.	 Screws ISO 7380 M6x10 Fe/Zn	 4 pcs.	 Screws ISO 7380 M5x16 Fe/Zn
4 pcs.	 Groove nuts M6

gggg gg

ggggggg

gggggggggg ggggggg ggg

248595 A

SERIES

UDN2011-10-05 12/8/2011 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

2

Montering av Väskkroksats på unitrackskena

Bild 3. 
Väskkrokarna monterade. 

Montering
Läs igenom anvisningen innan montering påbörjas.
1.	 Montera skruv ISO 7380 M6x12 med bricka 

6,4x12x1,6 och spårmutter i hörnhålen på hållaren. 
Gänga in skruven 2-3 varv i muttern. ( Bild 1)

2.	 Placera kroken i hållaren med krokens öppning 
vänd uppåt. ( Bild 1)

3.	 Skjut in spårmuttrarna i skenans spår till önskat 
läge och dra åt skruvarna. ( Bild 1 och 2)

	 OBS! Krokarnas placering är beroende av vilken 
typ av väska som skall användas. Prova alltid ut 
avståndet med den aktuella väskan.

	 Alla fästelement i satsen används ej vid denna typ 
av  montering. Bild 1. 

Skjut i spårmuttrarna.

Förteckning över detaljer som skall finnas i satsen.
2st 	 Hållare för väskkrok	 2st	 väskkrokar	
4st	 Bricka 5,3x15x1,2	 4st	 Bricka 5,3x10x1
4st	 Lockingmutter M5	 4st	 Bricka 6,4x12x1,6
4st	 Skruv ISO 7380 M6x10 Fe/Zn	 4st 	 Skruv ISO 7380 M5x16 Fe/Zn	
4st	 Spårmutter M6

gggg gg

ggggggg

gggggggggg ggggggg ggg

248595 A

SERIES

UDN2011-10-05 12/8/2011 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

3

Fig. 4.
Bag hook fitted on Corpus II.

Fig. 3.
Bag hooks fitted on Corpus II.

Mounting
Read the instructions carefully before starting 
installation.
1.	 Remove the back cushion.
2.	 Mark out and drill four 5.5mm holes (approx. 

50mm from the top edge of the backrest) 
where the hooks are to be positioned. (Fig. 3)

	 The hooks should be positioned symmetrical-
ly on the intended central line on the back-
rest to avoid an uneven load.

	 NB: The positioning of the hooks depends 
on the type of bag that is to be used. Always 
test the gap between the hooks using the 
bag itself.

3.	 Fit the larger washers on the screws (M5x16) 
and thread the screws in from the front of the 
backrest. (Fig. 5)

	 Position the bag hook so the opening of the 
fhook is facing upwards. Mount the holders 
and position the smaller washers between 
the holders and the nuts. Make sure the 
hooks are in the groove of the holders and 
tighten. (Fig. 4)

4.	 Replace the back cushion.

	 Not all the securing elements in the set will be 
used for this type of mounting.

Mounting of Bag Hook Set on a plastic/metal backrest

50

Fig. 4.
Screw fitted on the front of Corpus II backrest..

gggg gg

ggggggg

gggggggggg ggggggg ggg

248595 A

SERIES

UDN2011-10-05 12/8/2011 GHT



Page

RevisionDocument No.

Production state

Preform Date Preform By Approved Date Approved By

Document type

Assembly Instruction

4

Montering av Väskkroksats på plast/plåtrygg

Bild 4.
Väskkrok monterad på Corpus II.

Bild 3.
Väskkrokar monterade på Corpus II.

50

Montering
Läs igenom anvisningen innan montering påbörjas.
1.	 Demontera ryggdynan.
2.	 Markera ut och borra 4st 5,5mm hål (ca 

50mm från ryggens överkant) där krokarna 
skall sitta. ( Bild 3)

	 Krokarna bör placeras symetriskt om den 
tänkta mittlinjen på ryggstödet för att undvika 
snedbelastning.

	 OBS! Krokarnas placering är beroende av 
vilken typ av väska som skall används.	
Prova alltid ut avståndet mellan krokarna 
med den aktuella väskan.

3.	 Montera på de större brickorna på skruvarna 
(M5x16) och trä i skruvarna från ryggstödets 
framsida. ( Bild 5)

	 Placera väskkroken så att krokens öppning 
vänds uppåt. Montera på hållarna och pla-
cera de mindre brickorna mellan hållarna och 
muttrarna. Se till att krokarna ligger i spåret 
på hållarna och dra åt. ( Bild 4)

4.	 Återmontera ryggdynan.

	 Alla fästelement i satsen används ej vid denna 
typ av  montering.

Bild. 5.
Skruv monterad på Corpus II ryggens framsida.

gggg gg

ggggggg

gggggggggg ggggggg ggg

248595 A

SERIES

UDN2011-10-05 12/8/2011 GHT


